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Multiple Digits
Harder Two by Two Digits
Version 2

Name:

65 37 96
x42 x24 x 9

75 73 71

21 79 21
fll x 4 x24

Total: 9 Goal: Complete: Correct:
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Multiplication Word Problems Three (Unused Facts)
Version 1

Name:

Each child has 9 peanuts and 15 marbles. If
there are 59 children, how many peanuts are
there in total?

Jason has 8 boxes of tickets. Each box holds
20 tickets and there are 5 boxes in a case.
How many tickets does Jason have?

One package of pencils costs $4.00. There
are 7 pencils in each package. How many
pencils are in 66 packages?

One package of apples costs $19.00. There
are 8 apples in each package. How many
apples are in 34 packages?

Donald has 8 boxes of blocks. Each box holds
28 blocks and there are 3 boxes in a case.
How many blocks does Donald have?
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